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Name @ Written Assessment _
V Saxon Math 1 (for use with Lesson 35-2)

I. Robert counted three red cars and four blue cars in the parking lot. Draw a picture and
write a number sem‘en’ce to show the cars Robert saw.

_. ~ i ; 1
Number sentence 1| / A+4 =7
A R Don’+ Yo '“ci}efi-
How many cars did Robert see? .~ _cars the equals g"-,'%{\

2. How many apples are in each row?

O

5

.55 b e 4 e

Use a red crayon to color the apples in the row with the most.
Use a green crayon to color the apples in the row with the fewest.

3. Write a number sentence for the first apple.
Draw different ways to show 5 apple seeds in the last two apples.

L. Point to the circle at the bottom left. Color it yellow.
Point to the circle at the top right. Color it red.
Point to the circle at the top left. Color it green.
Point to the circle at the bottom right. Color it blue.
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Written Assessment

Name _ et ™
; L)/ 'Ej_axon Math 2 (for use with Lesson 20-2)

Date _DENTEwvn DEF

I. John has 8 pennies. Susan gave him 2 pennies. How many pennies does John have
now? What type of story problem is this?

me, some more Some, some went away
’_‘_‘-'—-_'_-'-—-——/

Circle one: ,r
Four children’were playing. One child went home. How many children are playing now?
What type of story problem is this?

R

Circle one: Some, some more

2. Continue the repeating pattern.

e - N p— ‘
/\ O O AR () (1 |
. £F— ) e’ S et

3 7 b} ] 3 b b H

fourteen _f_)/ thirty-five . >
sixty-one [ | V |1 ‘/

3. Write these numbers. _
1] ~N \/
: J
— A~ 7

seventy _/L_

4. Circle each shape that has equal-size pieces.

5. What is one more than 49? ..

What is one less than 20?

6. Add. -
6+1=_/ Y 5+0=_,__§ 8+8=_ 07 0+7= —/
7+7=1 T | +8=__ 3+3=_'_”/ 9+9=_ "

MO{Ra)WA_O20-23 © Harcourt Achieve Inc. and Nancy Larson. All rights reserved.
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Alexander the Great Quiz 1 Name

ey
e
L 1 y |

Alexander the Great was bornin _J~ B.C. Heisone
of the most famous rulers of all fime. The name “Alexander”

means L U1&r Ot Y€l
Alexander’s fovon’re animal was a fL C named
pucepndill. . His name means NEad
_ 1
Alexander rode him in every LW AT and named a

city in India after him called suCe | ) | -.:':f

The story is fold that Alexander was the only man able to
ride the horse. Alexander figured out the horse was afraid

of hlS Shao OO w and ’rumed the horse to face
the SUN A’r’rhe age of | L , Alexander won @
bet against his fo’rher Pnilip |l and was able to

keep the horse for himself. He is one of the most famous
war horses in all of history.

Word Bank:
12 +horse Bucephala 356
Philip-4- ruleref-men- -shadow

~Bucephelus. battle SUn_ -oxhead




1. Entomology is the study of NS { s {'5

2. Insects use their antennaeto G i ¢ ‘ l and 'F@ p\

3. Compound eyes are made up of hundreds of le ag

4. Another name for ocelliis € m D\Q e \{/6 S

5. The three types of insect mouths are __{ ﬂ 2 \A 'hg ;
5QOC 1h0 , and O()hmhg voout he
6. The three body parts of aninsectare _he rx)t )
+hovrax ,and _abAnbneh
7. When an insect is ma \“,‘ nd it sheds its exoskeleton.
‘ J
8. The wings on a dragonfly are called _yn & 1 k ranos wings.

9. This mouth part is used by butterflies to suck nectar from a flower.
? V‘ﬁ%}m AL iE;

, " _
10. Some insects use _PDNA N (i D t_e =) to chop their food.

11. What is the outside covering of an insect called? _€ X ¢ ‘f’a[& el eton

12. An insect’s wings are attached to its T \’\ nca

13. In a complete sentence name 1 way insects are beneficial. Be specific!
\
,'tﬂ\

.
__' hgerJTCo Ace %:ﬂk’\ﬁ i iQ\ \:‘erm\&e_ T

||%\/ nr\o
!._

\C@m\ Toc birds.



Homer Price Comprehension Test
1. What did Homer Price enjoy building?
. ’ & ! as /"/()‘X
H@m@\r Pﬁc,e, Q,V\A%\;/P ' bu\\ \"ﬂﬁ (A DS,
2. What animal did Homer find drinking Tabby’s milk?
{ ‘ 1
H(b e '\chu.m\_ a__ Skunk drm\ﬂmj Tck'\ab \;5 ml“& ;

3. What did Homer name this pet?
H ofey named b g pe,‘\r A_mm A,
4. What did the robbers steal? i \a(S ~
The, YOELQY‘S S\O"%;_e ‘\‘ke Two ‘\‘\rxauSotv\_o\/ and
e, dozen botles o atter  Shavh g Vatiy

2

5. What happened to the Super Duper after the movie?

.
TL\P Su\?er Dw‘;;-f, r g@jr \,\i'.g, cow ST A% ph 2
dith  and 30*’ himeele ¢ (iAd WY o a  bacbed wiee fenc

6. What type of business did Uncle Ulysses have?

Uﬂde U\‘«;JSSQ%  one QA \w\Q\f\

N 00 N

7. What happened when Homer was in charge of the lunchroom one night?

WQ»LFE was 105 phach ‘f? axY ey and  Homer T
u\dvk gt fle 5}0““(,\«\;1:\& Yo sYop.

8. What did the rich lady Iose at the diner?

The, \mc\m W\\l \,ob*’ ‘mr A\amﬂhé\ \DT&C{’.\Q*

9. What hobby did Uncle Telly, the sheriff, and Miss Terwilliger have in common?

UV\C\Q TQ\ the § \\Q(\y‘\r a9 \ AR -‘f&@f a«‘f\ collfce!
Srnng .




Name .. __

Score
(11). One hundred boats sailed on (g. What temperature is shown on this
Tuesday. Three hundred boats thermometer?

sailed on Wednesday. Five
hundred boats sailed on Thursday.
How many boats sailed in the

three days?
100
300
go?

—’(TU—’ b os ts

23) Lina had $337. For winning the
race, she was paid $208. Then

how much money did Lina have? 72°F
$337
£20¢ Compare '
‘{;’ 55 V6 two hundred twelve O two

hundred twenty
3. Write 409 in expanded form.

(16)
212 @ 2120
Hqoo t9q =009
7. 458 & 495

{inv. 1)

%,' If it is morning, what time is shown
by this clock?

i a £

. 82) How long is this pencil?

@nlmn-mlln»

Saxon Math Intermediate 4 © Harcourt Achieve Inc. and Stephen Hake. All rights reserved. 55



9. Round 62 to the nearest ten.

Round $5.89 to the nearest dollar.

g6 0°

10

P}

1(!). Piper is standing seventh in
line. Isabel is thirteenth in the
same line. How many people are
between Piper and Isabel?

0929793

\/J 5 Peop)‘e

On the first day Elsa found thirty-
one seashells. On the second day
she found some more seashells. If
Elsa found seventy-three seashells
in the two days, how many did she

12.
(19)

12 "Se'a‘éki?ﬂsé# find on-the-second-day?—

/5 42
s D
7ED 55
M 42

56

(39

]
14. 573
@ | 296
g &9

56 ) © Harcourt Achieve Inc. and Stephen Hake, All rights reserved.

7,}
)%./ $78
i 29

Cumulative Test

@
0 I

Find each missing number in problems
16~-18.

. a 56 b
1(166) -23 t'23 -’Z;
% =74

17. 40

9 L b _ZZ 40
" —— 439
b =39 & —
70
1(186)' _4: HY4 LlL'I
24 -~2H4 -20
€230 -~ o
19. 32 ,+ 11 + 23 + 19 + F = 100
@ i . 1
32 B
1 ¥
23, gt
R 1 =5
t5 F

22}. How many Xs are in this pattern?
Count by threes.

XAXXXXX
XAXXXXX
XXAXXXX

$ X5

Saxon Math Intermediate 4



Use the word
the words may be used.

9.
10. AU DCANL LY

Name:_

Caddie Woodlawn Test

grede 4

bank below to fill in the word next to its definition. Not all

® N e ;oA W

~despatr— coaxed - foreboding escapade
tumultuous -pensive_ Vivacious —senkat
snconsolable earnestly adage- titters
»{.b:{ : loss of hope
IS : deep in thought
(Qm,a/ , : friendly
/ : broken hearted

e

: an old saying

- a reckless adventure

4&;1@,% e
com < eol

: gently persuaded

Lo

: nervous laughter

: energetically, in a lively manner

: predicting something bad, warning of ill to come

Use complete sentences to answer the following questions.

11. What is the setting of Caddie Woodlawn?

A, ,,zz’;w,z Cololse Woool Dosirne i

A WMM 1£c r-/n

12. Who is the author of Caddie Woodlawn?

g\




13. What are two meortant historical events that happened during our story?

— 14. How did Mr; Woodlawn get out of fighting in the war? Why did he choose not
to fight?

%¢LL 1¢ﬁﬂacéxpqu. Yok \A#j:?hki— Z;%* é&ﬁ}fﬁ% Lo,
;f:}d/ ohace «Z‘W O—W

Co L § -\

15. How does Caddie spend her silver dollar that she had been saving for so long?

Wh&‘fes she choose to spend it Ehat way? M
%J? jdﬂa ??’D/VL%/V 8 v J/a
e ’fa xmwﬁ 2 &7&_ sy Loooss

_______ Y Urom e 1»%, etz 2

16. Why did everyone in the town go to the Woodlawn home to Zf;ie specific!
Mdé

:ﬂﬂw 4 00 S IO N Vi 7 o Vo 4V 4 u-/ (=0 4% 41/\ ALf—f“uI/L WMJLOZ@@
(ernor)
17. Who were the two heroes of the fire at the school house? What did each of

them do to help?
é&éd;Qlﬁ QA?ﬂl}- am ol C%hd:j
U\Q ﬂ\foj WL«’/&L{{IL . j’%

A reng Lo g J{

H g !‘
% d(,g@ ;:!..,--‘,--'1,,@'(. ,T .f‘” 2, “:é?" Aﬁ‘aﬂ j( AL g, VY 9, ,

U




18. What is one way Caddie changed over the course of our story? Why do you

think she changed?

o ddie M&:{/

-/é"(ﬁ/li’)/l 24, Wh'/\

Lasl /Wuﬁvé/fl_é/%k % a ,&/(/

Write the name of the character next to the answer that best describes
their role in the story of Caddie Woodlawn. All names may not be used.

19.

20.
21.
22.
23.

24.

9

26.
27.

28.

Caddie - rmorn

Tom - M C,f{%é

Indian John- )//ooslly soRobert Ireton /Mﬁ% L
Miss Parkerfﬂc,ﬁ,,vwél/ Mr. TanW
o~

/

J-e 7
Warren — /V‘g,wé ,g?gngediah J O%E%Doﬁ Katie Hymabgﬁ/ 9 o
H]
Hetty,,m@,égfm Betsy._— Annabe]le - %

! y L GL‘{';{.J"

odte o

,L 2 ol Lot Cotedinr

a friend of the Woodlawns, made Caddie a

doll ade of corn gusks and calico

the school bully

’\-J O

Caddie’s oldest brother

the Circuit Rider

Py
u
y}qd " 4
It/ ] A N S

the “walking newspaper” of the Woodlawn

family

M b,

the teacher of the Dunnville Schoolhouse

“j,,m, Catdic

11-year-old, red-headed tomboy

Qo ralfell

the Woodlawn’s cousin from Boston

Yolie ¥
/q/f}"/wwﬁr

the seamstress’ daughter, received the much-

admired Valentme from Tom

4%@’?’/%7 ~

Caddie’s younger brother




grade 4
Aollowing the Plan Chapter 2 Test ﬂlrv \N"\ \ (
Name _ Date  V/27/2 Aone’

-

1. Write three conjunctions that can be used to join simple subjects, simple pre

simple sentences.
amu M L ( 3 points)

2. Write the forms of be:

_amy _da /e L ol SCL ,(4& ‘Zﬁﬁ%/
(3pts)

3. Write C for correct, CS for comma splice, RO for run-on sentence, and F for fragment.

R( ) 1. The baby seal had white fur the polar bear could not see it.
c 2. A polar bear likes to eat baby seals, but it has to find them first.

C 5 3. The baby’s fur is white like the snow, this helps to protect it from enemies.

l: 4. A green caterpillar on a green leaf invisible to birds.
Cs 5. The giraffe’s spots looked like the leaves, the hunter could not see the giraffe.

C 6. The fox smelled the pheasant, but the pheasant hid in the leaves.
(6 points)

4. Combine each group of sentences in to one sentence. Remember to use proper punctuation!

A. Ayla drew the Eicture. Natalie painted the picture.

dmg‘/wz.g_ ; r.-p.r('\l_‘/{l W !ch!./l“ /(
i,

B. Clara learned to knit. Mayah learned to knit.

(e and Wargal Jusiesl Lo fonit.

C. Ben fed the dog. Ben fed the cat.

ZQM,LLZ% DZM/ N cal
U J




D. Mother washed the clothes. Marianna hung them on the line.

amjgg/ R%e M Mﬁ WM@W%

ﬁlm%_m’fﬂ %p ﬂ//pw

E. This barrel is strong. It will hold our potatoes.

oY .- _ : _ ' .
YXLAA/WJ LA U/@n’lﬁ/‘: éofb J/({ _/Lzrt% M N
T}Oﬁfaﬁm
F. The kitten is ours. He is lively. He often gets into mischief.
o fFten

7% AZKZ JLJMJA,. h?} sl
mm&aﬁ ’

(6 points)
5. Label your subject(s) and verb(s). Then diagram the sentence skeletons.

< V..
A. Some plants catch insects.

——Inlaﬂ"'ﬂ' { ('(]‘}(‘J'\
5 Vv

B. Reindeer scrape the snow away with their hoofs and et the lichens underneath.

S <cra

€indeer

Ay

C. There are many catfish in this creek.

Ca‘il(sh/ arl
S \/’( S Y

D. A fierce wind blows over the tundra, and only tough plants can grow.

g_w,,hi__{_é_amjxanol M

E. Lemmings and reindeer live on the tundra.

LI e ry 5
/_\1\ (14 points)
v-[«'.n,jn- = ¥ l:.l/—f .




6. Underline the simple subject(s) in the sentences, then underline the correct words in

parentheses.

A. (There is, There are) some animals that look like plants.

B. (There is, There are) anemones and coral that look like flowers.

i
-

C. (There’s, There are) an animal with five arms called the st%;ﬁsh. 2
D. (There is, There are) an octopus in that tank.

E. (There’s, There are) whales that are as long as eight elephénts in a row.

L

2

\

F. (There’s, There are) giant squids that fight wh;r_ieg. >
(12 points)

A\ /44 pts



Mixed-Up Files Final Test Name’

=7

Complete the sentence with the best word: (1 pt each)

gvade S

1.  She felt a great deal of _Zg/,/,.if:/ﬂ after running ten miles.

2 Claudia was bored with the 2 / h_mﬂ 4 ’ of her life; nothing new ever happened.
3. Shekepta / f/« : ) of candy under her bed.

4. They only # &f from their hiding places after the guards left.

5. The builder helped __ 1A - 5] the bricks up to the second story.

Write the correct word with the correct definition: (1 pt each)

6. _«,;r,’,{ta‘__/, ot - relating to or having to do with money
7. AF2A. /7- /1).~"  -elaborately or heavily decorated
e ) /‘/)f 2
g R FULZILACEREC - copied, repeated
9. 7. /LA Ofa | LAL _ relating to a large city

Word Bank: *you will not use all the words*

metropolitan __ fiseal extravagant ornately
calculated - mutual - fatigue= “stash-
injustice expenditures ~ mimicked .. -hoist—-
menotony - - emerged:- inconspicuous  outrageous
commotion imposter mediocre

Label S for simile, M for metaphor, or P for personification (1 pt each):

~* - The tree was as tall as a mountain.

10.
11. - The wind whistled a mournful tune.
12. - The pillow was a cloud.



Label S for simile, M for metaphor, or P for personification (1 pt each)

13. > - The rain struck my face like tiny bullets.
4 o : :
14. g . The daffodils danced happily 1n the bright sunlight and warm breeze.

F i
15. 3 - Good coffee is like friendship: rich, warm, and strong.

I

16. ]}j - The tree slapped its angry branches against the house during the storm.
17. /z"] . My brother is a bear in the morning.

18. The Kincaid children learn how to live inside the museum. List two normal life things that
the Kincaid chlldren have to flgure out how to do in the museum, and explain how they do it

. _(JPOIniEeaCTl_)_ - - S
A @f’} ///]/f/ 0/\.//'/,-"" t«i—fé A0 CL 2 (e~

v,

- —'??'" &
e | 4 i -
AL A, =
r'f-"\ .
& . “/l
, 1( 4 ':-" by B a7 - / r w— V4 4
B S LM e 2 7
77 ¢ AR ' ' ; 7
- i ;,..f F A 2 s / S b .
el -7 e L7 /?‘/‘—Z&' 6@'{ /-’,L_/Ca’f’/?}/éf _.-'Cf"'""
= = —

Complete the sentences wa the best word: (1 pt each)

19. “That 1s Tf}i A » oried Matthew when he heard that ice cream was
$6 a cone. ’ "J ‘
20. The kindergartener was an __- -gr M_ (8 when he sneaked into the
fifth grade classroom. | .
21, The bulb glowed dimlyand _— /" '/ L2 gentle light.
22 Elizah was /7 A —{’/rffi"_ {:{; by the mystenous clue.
23. The pre-K student’s first attempt at drawing was -~/ © Lt ,,5;’_‘5\ el .
°
1

Word Bank: *you will not use all the words™

QUEEAZERNS. disciplined abrasions emitted-
S g stealthily counterfeited coincidence
imposter triumphant consensus familiarity

IV [Py «
N I} PNy . [ L s | accumulate



24. Why does Claudia run away, and why does she choose to go to the Metropolitan Museum

of Art? (5 pts)

/
o ¥ A4 ¢y 248 A "t v ¢ F o] B o "t A 7
F X A A S - d o 4 i g ' \
.
o
) Ce
! "‘ "
; al P
7 . 0 ’ .
AL L] ; < O~te
F L'/, —_— =
"y 4 —— ol
i RN ~ s &
AP L PPN -~ > . R A £
H R T - Ny 2

A L !
RN é‘“’i". \

23. Describe one way that Claudia and Jamie work to find information about Angel. (6 pts)

P 7

et

24. Draw a picture of what Claudia and Jamie find in Mrs. Frankweiler’s files. Be sure to
include the iteyx itself and WHI:JPE they found it! (6 pts)




. 5vadc 5
Science Test 2 - Name: -

1. (L ey is another word for whales. (2 pts)

2. The two types of whales: (2 pts)
A /
1 . % ﬁ'{)—’:{‘_/ "_,:,,;_" C

~ A )

3. Explain how the two types of whales are different using a complete sentence: (4 pts)

i S 9 - - - & s

' =
N
7 &

“'/(’ o ; » 1 . b e . /
/

4. Descrlbe how whales move differently than ﬁsh using a complete sentence: (4 pts) /

[

| ;.-’ // { rr . = . _ n A X 4 /
Ry 2 g - 2 | ST \ A2 oy AT
M 'r/ AT A i gL . ,-' A _5- A== &
. 7 . : 7 - v -
- f T N - e I~ Al " v i —
O TP AN NAKL - L e A7 LA
& - ‘j- _ 7 ',_‘ - /

5. Explain why a whale needs a blowhole using a complete sentence: (4 pts)

il ~IA 2 A2 . - - i =
| A e AV 0 L= ., : & -
N -
- -7
- = ) y L o
= . . . P 7 ;.
} A : A A AN - (e, LA
!’ 4 . i 4 '] F. T
sl P / i y.
> y N

A 4] A - £y A
- p— P
o P LA/ E O {..r" ] L4

A »
o, Lt owrt AL 7 7‘%”9’

Write the’ correct word to fill in the blank (6 pts)

6. The end of a whale’s tail is calleda __ 2 :

-

7. S —nlfbeoil is a strip of brlstled plates that hang from a whale’s mouth.

8. When a whale sits straight yp in the water, and spins, that is called

. Ape 1 L2072 2 A0z
9. When a whale leapsf into the 4if and flops down with a splash, that is called
PN AP L1

7

10. Awhaleis — L when it gets stuck on the beach.

e

11. Aot 4.e : "~ is when a whale has its face in the water, and slaps the

surface with its tail. |

= = - 'l 7T r et e vm AT AINO Y



Fill in the blank (1 pt for each blank):

12. Another name for a Killer Whale is 5% .

13. Because they make tweeting, chirping noises, jﬁg@bﬁ/gfj’i are sometimes known

as Aea Carrrazléd .
. ‘ ) .
14. Narwhals have the nickname “ 4;7/7//’/’/(/007"” ofthe dfa_ g

15. The biggest of all toothed whales is the oy =10 4" whale.

—— ) -
4L ~ : = Y,
‘ //’éi’\’ J&!? f -a')g / / ﬁr S —— N ——— ——
16. The largest of ALL creatures: VL Y e
: 77 _. /¢ , y
. . e N . ./,.a:; L - J'_.-‘f:r [?f“ JA ] ";:_ Ty
17. Known for its distinctive upside-down u shaped mouth: _/ Ut ,;‘v ~ VYAl AL
J vff | s J /22_, i 9./ F 7
18. This whale is known for its singing: _ A/ © il i b oo i e
_ S 4;; /
19. The tiny zooplankton that blue whales eat is called: </~ “AA

20. Describe one sense that God has given to_othed whales, but not other whales. What is it called,
and what is it used for? (Use complete sentences): (6 pts)

B Z /4 -7/ ~ 7z g
y /&L ATz g Lo o’ € oz ezt
2 74

A =+ . y / #/
_Jﬂf’ﬁ.\\ .»’C.-Jf""i""’t’ﬁéz L Zrrt o -Za;{‘”-/ R ES - ;;?;’ ./.?"'}/Lé’/é‘ﬂ

7 7




grode S

Name: -
History Test 2:
Using complete sentences, answer the following questions thoroughly.

1. Explain how Hammurabi ruled his people. What were his laws called, and why did he write them?

(4pts) y,

/

[ 4/”/&#” "%’L ///f /gwﬁ
7

(A2 z(// . /,h,/ r BE c:" // 7

// fAS) / ‘i’( - :'f ' (21 O7 L *

2. Shamsl__hi-Adad was feared by many. Explam why. (3 pts)

{
i

) i 7/ . '3 4 F— ! - 7 - " A 4 p s s
| ALass :l/_» = CALAALLES S 7 P B 2L e’ P2 g
) , - e Vi
o /o d Lo A £ /
I~ - 7 g : -7 . N P 4
O A c’z*é///kr gz P A B A 0 N ot il 2 2. e "’ ¢ A7) /"ét—:;"
J 7 7 ¥ T,/, 7 7 A = ==
C\)fé?[ i 1=/ /’/; //f._.ﬂ_l_.; T r-l:,'F /.,/\‘rm

L -
3; Where did the stones about Gilgamesh probably begm and how did tgey begin? (4 pts)

,___../ / A
.-'/ i f
\/x - Jz _,St_rzw i st ﬁ oZ ‘b‘: ’ » 7 o 2 e Y

AL e e 4 /f(‘// 7e :_‘_r_ 2 /\iﬁ:}.(b - AALLH

p s __.-_.-C/ 7 ) / P
oA \/ff//mmzw o aZeml Aee Lrele VLS

0@%’@@;{' --&-ff)zfm-g’ SZHLA, f‘fé‘ o gl . i
’ 4
4. Write about the two different types of tombs in ancient Egypt. Which kingdom used the first type?

Why did they move to a second type? (6 pts) Q@( W =
C,é:/n *':/-'rﬂ _,f:":-_..{--b‘-_:h-.ff?f ALt ¢:r/’/ﬂ 7&:

..‘. -

{ 1 po === -
/ e { B .-“/-f:}/. “e’-’r" - 5 )(“T . A ‘z.‘ ol 4 ‘GI‘ ' 'v'_'l‘ o
. Cod b Cy T AN ARAS VL Al e B et 2

I/-/ﬂ i._:;l o £t ;_.-:— ) /- ¢ .’."’_‘.—‘-: - ;_/,—(f‘. /___. # ‘,_;_-‘_:- -

./

5. Draw a picture showing who the Hyksos were. Make sure to translate their name in your picture,

and show how they succeeded taking over Egypt. L%l as needed (5 pts):

¥“f\a\/ S;'?CJC’ L{Y’Qﬁ'f‘(\"

C

~1.7



g e

a5 3
ENEEE N

6. Name three things you learned about Hatshepsﬁt (phrases are fine!) (6 pts)

A
B.
C.

o lbe, vor feof hey do  le &' 2
e é‘ yiler i v
oy Pnend bt A,w}ﬁ/ =5 ?QA/ELM/MM

7 Name three things you learned about King Tut: (phrases are fine!) (6 pts)

A.

B.
C.

oy pomioms pgebloec

7

Dozl Y i /w{fé-a&(

Wﬂé /g—&L/ S 'ffﬁ-—ptieff'@/ fra;»zim‘;

6. Label (5 pts):
-Nile Delta
-Babylon
-Assyria
-Tigris
____-Euphrates

Timeline: (12 pts)

Creation and the _ /1 1/5’/
The Flood and thg Tower of Babel

VK g Tarpiize wd e - 3600 BC
Egyptian Civilization - 3 [ ‘O(‘;::Q 12 C
Patriarchs of Israel/Egypt’s 0ld Kingdom - AR R
Assyrians/Babylonians/ Egypt’s WM Kingdom - / q OO0 f)) 4
Israelite Exodus and L7y el W»tféwfﬁ .3 YE 5¢

"
44.15/51 pts
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Name: 4

King Arthur Vocabulary Quiz ~ *The Two Swords*

I. Label the part of speech for each vocabulary word noun (n.), adjective (adj.), or verb (v.).

1. peril __ 0707 4. bewildered Qﬁiy Y/ S

2. vengeance _/2l0-z447/ 5. wroth __ alz
p
3. desolation _ 72072 /7~ 6. hermitage ZZz1m s ?7

I1. Fill in the blank with the vocabulary word that best completes each sentence. Use the words
below as a word bank. Spell each word correctly. One word will not be used.

bewildered desolation scabbard
vengeance seneschal peril
7. Sir Gryflet wants to seek E# «* 19 LA AFLE against King Pellinore for
killing knights who pass by his pav:hon _
8. Any knight who passes by King Pellinore’s pavilion faces great STt . ‘
for he would smite any who dared to come. _ 7
9. King Arthur appointed Sir Kay to be the AP UR A & over all the lands

and a true knight of his court.
10. Merlin says that w1thout Arthur’s leadership, Britain would become a country of ruin

and __otbn o lotion _
2y JL O e .
/-/:’ YA 2 , wondering why no one

11. The knights were all

except young Arthur could pull the sword from the stone.

II1. Applying vocabulary words

12. Draw a quick sketch of a scabbard.

\%\ —tl__

13. Draw a quick sket /ﬁof King Arthur’s face when he was i > - i:

wroth.




6th Literature

14. Draw a quick sketch of a hep‘nitz_tge.

15. What would be a good synonym for the word bewildered? CMW

16. What would be a suitable antonym for the word peril? A’W

/

IV. Vocabulary Usage

17-18. Use the word vengeance correctly in a complete sentence. Make sure to include context
clues that show the meanmg of the word. TR e

///%// P o /yé//
oF crve e Ab,

19-20. Use the word desolation or desolate correctly in a complete sentence. Make sure to
include context clues that show the meaning of the word.

@//éﬂ e ,,e/}/m/y 76}@3//44////3; o
W ﬂv/@'&

21-22. Use the word bewilder or bewildered correctly in a compléte sel.l_thér:lzcel.* Make sure to
include context clues that show the meaning of the word.

MW PTEE ka%
%Mm/ﬁ/mw/ﬂ,
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7" Grade Early Modem Lit b
N LA N
s [<f & )
: L [ S | f 1 .
R b Qe 35 total points

A Midsummer Night's Dream

I. Facts. Fill in the blanks. (1 point each. 17 total) | S o

1. At the beginning of the play. Theseus is anxious for his wedding day to arrive, when he

E 4 0
will marry & Lot ,t’ . .
2. Hermia is in love with _ deandlo] . but her father,
Lacud ) . insists that she must marry
Lemelais ass _If she disobeys, she will
Jhen Jlee ot et fr¢ b L analiiit wrsory lge.
3. The fairy queen, _ e Lo b . is fighting with her king Oberon because
A zally 1ronila N Liarigling  (TY
4. The mechanicals, who include Bottom, (3 440 nCC z
w .’:-:\{r . and LA are
wlulp - L'T :
. preparing the play called “7 fuers au f  Tlugler
5. Puck. whose full name Is R, hray (odStllan T S . transforms Bottom

by = AN ol ! den £ 2y /e A . and the queen then falls in love him.

6. When both Lysander and Demetrius insist that they are in love with her, Helena becomes

furious because

(\B "I ;J"':, }-;.‘;; -.: .r'r‘ f et e lr d W /A I_.I [y - . s 4 b .
Ny e e~ {10 iy i T A "_G'- ~E 2 =L W nE FItg AL rhpte,

7. (Answer ‘Lysander’ or ‘Demetrius’) At the end of the story,

' has been unenchanted but

-
A acinnectin

remains under the influence of the magic juice.

oA

e »e
L e A

8. Puck says that the audience can think of the play as ___ e dnegm -

if it disturbed them in any way.

I1. Short answer. Answer in at Jeast three complete sentences. (4 each, 12 total) (¢, 7§

1. Tell about at least two ridiculous things that the mechanicals do with their play.

IND Aldief Mo 4 £ : o :
VD Adienlog  Ahengy  Abat Al piechaneal, deo ,,q)fgib Hewn Al

. ' (g / e
N Malae o ANy LY - .
. : el & XUt £ {lr Vil W L N o .
: ! - e {A Mesndreny, e AL
&\ ' il re o ¥ ONdery, We Ag .,fl{.;cc/uatlrua ,(—thgt(,;(
Y Lot Ao A -M.r.\" . - , ¢ e e
. . 1/ s ' « LU .'711_4*0}1_0,/"4 .”,(
Al . .f‘. \ o h W o Lot ¢>7 v N A'{LfZ{' ‘,ffla ":’f';lk Page 1 of 3
1 3 { ; - i 1 L
Fod st ) R / . | . - -
[ <4 {/r /‘1 /u: R ,'.! I 1 s / e L ,‘/ o 4
el Lo s L!/ A Fairmga
i LT w3




7th Grade Farly Modern Lt Test

£~

I 4?'/ ¢ g - Dy
. (RS N s e g . b
W ‘j s "('/'f z)‘.’:'_r‘“ 4 £
y ) o S
o~ - o ‘ ! ;
] 7 i ; 15“,} | "11"{(1 B ;o -
y At f.{ ’,_){(-{‘;l;.‘ gieef - J..

Saacals,

5 Tell about two words or ideas that come up again and again in the play. Why are they

L

repeated?

2

= Jare }-.""‘?.Cr\e T/{,f ton ) )
/ 8 12 /\'Aj.’) -'ﬂozma;\,y_ ,a!/r')wa S£h ,//g

Bl )

d ﬁ‘i'v’"‘ e /) .-'r~?"r\ < ;Vf ) DIeY —
" B L \ LA " 't AT, Y //e(. (LJ:[F L 4 . R
o Py 4 of WA G f’?»t 7 Peoted  lteruce

A . ) v - o
o Coeiant < acls N ' ‘UZ. abreul  YWe Foon aand
Lj S - ‘;’f = “""93— [Peausc CrF z” . '

\z" -i £ -‘T'\)’Z‘J . \‘r 12X &: oY

A docarn  apg
2 | PP o Lt [ :
,1 | beawse all o

+{f) s Y, ” ) - .
vlinige oo Ty ac 7(“ A dligd  GORS /
v e

v lanke Yook Qvtic wake mndis 1§k

boran (\1435 Ao

3. Agree or disagrec with the following statement, and explain your answer with support
from the text: “Oberon exerts a good influence on the events of the play.”

v 2
\‘: f"!-_fﬂﬁ VLE o ! ! Lo B ! Gy -
(%zatese ff £C I'f'[;ﬁ g 'G'“f_&' J C[{d&ﬁq% Wzl 7/&/
- LB, ‘Gll .r;_ . : (| 1 7 ; »
) ¢ mc.///\)/ (111(4{ a MHLA Py, //L ‘/'hi:* . :/f
ey 2he A ¢ . 7 o AL :
: g 4—6€47 o | be forccd Lo
gl A e

cmd 446
"J’r;'lﬁlf"r,. 1 )
= '-Lﬁf-lla /a ~ vl L
F‘:\r - ;.'d( 7‘/\ /'. ' .r’f i . Clr
[V 3 Veer - , F
- Ay Do 58 ¢ bl gD e
*fi { \OE,/.! 1/.;{1’ '”f_'}L F 7 et Leq
\ ‘!--ﬁ-:- «  foud "{"'Lé'éf@ﬂ(( l
iy e Lares 7 e

C |
~Lemi ) i
{d/ :14 4] “57 (’C.C(}(_(C.C [}zé d‘{”lﬂ,iL(,(
Aiean
o K‘e dl{fr’a({f
AW"\ Akt en i

)
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7% Grade Early Modem Lit Tes

H e ' ath iyt
ioni he fol > We ath with oath.dan
. 111 Explain the context and significance ol the following uole: \\ugh.\ull with ¢ 11 ) | N
algs e Sy anad
vou will nothing weigh: / Your yows 1o Jher and me. put in two scales. Will even welg \]1 &
b ' 1 & E : 1 P and why i
both as light as tales ™ Your answer <hould include who qaid it, in what situation. anu i -
important 1o the play. (6 pointsi 'ml
S

| (2% L\ ] i I
} r A4 | ‘I a | 4
i £ ] mu . 9 ) /
o g ) J.-
.y ) J , N 4
h Lo o
= 1ATL4A - -!. '
[ 141 1
? = b B (e,
7 P i
m"![’_ /‘}\]“",i’,g 1..,'_(' y J 'y
] - o 'y) & g ?'41 / .i’ . / /
7 e y
L4 r}"_q |
[ < LA Y g 1€ |
{ v < U
i I fe 7, o M
AN / 7
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7" Grade Larly Mod History Test

. _ .| (""- Name:', A -
' N 43 points total

Age of Exploration & Wars of Religion

1. Fill in the Blank. Please leave TWO blanks empty. (28 points) 7 % -~

The Spanish conquistadors subdued several groups of native peoples in the New World,
including the [} 142 in modern-day
JRY IS ~ .andthe _ (Iaornd

EMAD =
_Many of the natives died of

in

modemn-day Q;'_;_ MY/ .

v S P2 S— (rom contact with Europeans.

The Spanish Armada attack took place in the year 15 <
ance were called e lAgr ol -

The Calvinistic Protestants in Fr.
_ family ordcred a massacre of a group of

Whenthe oAty
these Protestants the French Wars of Religion started.

. } ___-__.___d.__ ol % _;__ _ (foreign monarch) supportcd the Guises during the
French Wars of Religion, while _! . }_".‘_*;_”,_'4'__ _ _____ sl (foreign monarch) supported
the Navarres.

The French Protestants were gathered together in Paris lur (event reason:)

. ; ;A A
ke aNlllian _:___.'_h_ burdd __L‘-_H__._f_{__f____ - bul 1l1e “Catholics decided
instead to attack them on St. _ Ronthelmuy __‘"__ ~_’sDay
The cause of Henry 11I's death was
- _.-_'_:_ﬂ:-_d.{f_-:__"l Y om _omoa  ORN0GUL [T /I
Philip Il was nicknamed the *_ *.-_,___’__ _tnalis A3 - . .

When the Netherlands rebelled against _ Spave . itsplitintwo, and

1 ! ../. ']

the northern Protestants were led by _ Uldiprrr ©f 104

France felt very threatened by the house of ¢fimind o

because they were surrounded on all sides.
The Thirty Years’ War was mostly fought in (1ocauon )

and began when _f el

e‘ rule began.

Page 1 0f 3
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7 Grade Farly Mod Thston

There were four phases in “he last religious war” - the .
S ) phase, the Danish phase, the .
 bueadagh o —— phase, and the __;__{_____{_4;_: D gl f___F,*__ o
phase. During the first phase of the war. the W/ I (725 S —— side initiated

~__of Prague.

violence with the j_Jﬂ_ o liFeligne
2 [ lmost defeated

14 o Ll JA) ~was a great military leader and a

14 PO R s
A e G -
¥

the Holy Roman Empire in onc phase of the war, but he died in battle and then his troops Were

pushed back.
The Peace of U2l !,__L/ D — ended the Thirty Years” War in

the year

The Thirty Years' War led to more sophisticated weaponry and strategy, leading to kings
keeping 4 {ig )i < armics.

s. Be sure to address all parts of each

er questions in at least 2-3 sentence
Lf . rw-f 4 .';\jf_l‘_.

1. Short Answer: answ
question. (5 each, 15 total) \3.1 \d
W,Mu‘ e |I" 2 |

1. Who won the War of the Three Henries, and what did he decide for the country afterwards? e
What law did he pass, and what did it do?

e, wan G e Mo o, He dicided

Hinaug Newone. a7
j‘[' jw?‘ﬂz C‘a’ﬂ s P 4 J_‘/- A
N }i vi 4'1{;1&% Lon o dabie G o Caumy. He Hvaw Thet
SR -, S RS el : .
§ 5 N S Aoy «{h,fi?;"—.‘a’ln-"}j woild fon Inana abort
! b 4 ‘1"_:3{ [:‘,-J:-‘J[ _-":f{ N gt . -‘?:‘ﬁ f
 cothgle fn ne Lovgy 0 mE f digme

\\/‘l . | :{:-TT:L'{"I"{-' ol "_J;--F-Ui""’ .*{,'-r/ﬂ'r‘-r G B
AN e 4L e D e O Ygl & MU g,
A How Davene. g J o - eleres
’ i A ¥ S Y IR { ““JL}h o J}‘_{ vl Dc )
S T L

}‘. it ,‘/'\I r -"P .[- A.,J ’).4.-‘“- 1 -'r ' .’I_'j‘.' f.‘{‘: E ‘ ‘I
3 be el i dopasr ral Decpnse 6 B i
) FLv g LA e P ‘L.—".’!‘ s -'v"f_j_ ;ﬁ“/;{,{j [ * &g ‘MMM g i ],‘I : ioudred ATH
-F . e i g
VoAl An _;‘_ { oA by --f):/ '#b/ﬁ’l,?‘ W P
W DA _.‘,{i,;‘-M,j 1e '{LJ/\_@;_L’}.—“' A/H ng&u;‘ AL
; i o L L)
; , ’;fz' | NS
s it ane L s
bgeneie Ong oo & bugle
N F ! ] j \" 2
3 Birzes ot sine ot cied T8 h cxrrn J g T
i . _ R 1A L {"'(; wptd C T A
gk Page 2 of 3
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Test

7% Grade Early Mod History

2. Besides ending the Thirty Years® War. what did the Peace of Westphalia accomplish for the
German states. I'7ance and the Habsburgs? E
e e € 1ot UL i feuwch yf&ﬂmm Ahak

& P

4 i sl Mg Mg gve ng:l’&l!% ot thok
wh ¢ ;."'-/,7’ v Ak -
J ¢ Rra b w"':, . .
y 4 re . oA _ L 1.F
. ) { / - PP
o J 'f: -
k { ~E A g f ' :
AL CLb# {r ['I"'- / ;_,”.L( bozd —Thot J

1 Jsra
MHLENL AadArs »’:'-'.-_.-J'__;ff-" P [ TR v v, .
WLl Ll L7 Fl4=1 _',a_._-_‘/;;,’;/,_h_ A f.’ I

yvewg ; ﬂ“-marw

actually end up

‘hich Protestants and Catholics
ples and tell what

¢ talked about several instances inw
ghting together. Choose one of those exam
g groups ended up working together.

3. We hav
making an alliance and working/fi
happened and why these two opposin

Ve tpample wod Hot Cathgla Pt upihud

_{:,_,‘f i 0
':*-J,,‘,.._-.-’,J‘“ > - ' 4
[on Dreeclin 1o (theed i NN [ ¢
o AN .'-fg_/, [Py '."f."ﬁ‘f\
v ¢ N W

‘,. . [ r
AL LA A -.4“._"{,_ L'J_' o 4
21 Ad a0l S V) L
Py 7 ff‘"-i-'_',f_/f 7! Vil il *“'(/ j)y{ H!‘ '::.'_,,} i fias
7, AU A s Lm0

Y 11 1
! LA LANT ¢
AR D

4 D Al M A ()
\ " oleheeike) Z;U]\‘.,,, ” E,'
. __J b ; LAy W .,""P: {Z,

|

7y ,I.'_-" j-":(/'"'f. vy F L
§ A Aedie A AN Lack . " 0 LML
- ) 1)/ o 7'"{ "-""'l f—'—rf-fxf.'t."f_,_i ~ / =y

Xeag (g 4
el ".'éf%ﬂ’{"’('{ft
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Name;. Date (- 5-25

CHAPTER % :
2l Chapter Test B X7 @\(\

For use after Chapter 2 \.X\
Tell whether each number is a real number, a rational number, Answers
an irrational number, an integer, or a whole number.

1. wddnnar g o el

1. —0.75 2. V12 3. 10

Tell whether the statement is true or false. If it is false, give

a counterexample. 2. \cmhoral el

4. If a number is positive, then its opposite is negative.

5. Ifa number is an integer, then the number is an irrational number.

3-,&&(1@'_(_4@1&3_
W

Order the numbers in the list from least to greatest .
varianat . el

6. —0.25, 5, 1 _ 7. .__3_, —4.6, —4 07, —4—
o- 7 Y.z 46 : 3,5
Identify the property being illustrated. : ' 2 _'__'YU ¢

8. (x-05)+8=x+(05-8) i
5. folse — @

’ 6. ~0.25,-0.2,0-3,)

9. x+(~—y)=-y+x
10. 2(5z—9) =10z — 18

“31) 3a + (=3a) = 0 7. 4.5 -4, 4.3, 7407

Find the sum or the difference.

12, 31—(f12) 13. —22+16 8. Pesece tobive G- € Mutt
14. —0.8 +(—8.9) 165. —16 — (—25.2) 8
. Lommutabtive,
16. 1-L 17 7— + (—2 '
2 10 : = 4) ¥ i, £k
In Exercises 18 and 19, use the table below. 0. Divtvibpubive R\-;J

] e [ /
/ Birdie |/Par-| Bogey /2222;6' A y{ i}%’

-1 0 1 2

13. “(e
14. — 9-7
5. 4.2

18. In golf, the best total score is the lowest score. In 4 holes, you score
a birdie, a par, a double eagle, and a double bogey. Your friend scores
an eagle, a double eagle, a bogey, and a par. Who has the better total

Copyright © by McDougal Littelt, a division of Houghton Mifflin Company.

score?
19. What is the difference between your friend’s total score and your 16. __ — ’/ 2
total score? "
17. 5 "1z0
N (\(”" =Tl - 18 Eritnd 7Y
Tricnd: ""1 \ 19. _—2Z

- Algebra 1
\\._____. —
Chapter 2 Assessment Book 21



Name Date

CHAFIER Chapter Test B continued

2 For use after Chapter 2
Evaluate the expression when x = —5.4 and y = 2.8. Answe}s
20. y—x( 1.3 : 21. x+ |y—10} 20. 6-8%
2.8-(75-4) -1-4 ey 0
Find the product or the quotient. 54+ . 21. 1.8
22. —6(=12) . 23. 45+ (-3) 22. 12
24, g(—%) 25. —72+8 23._—15
- . 2:4_ = 6
26. ~4+(-2) 27. ~Za8)—5) ——2hz.
' | 25.  ~0-9
28. A person buys items and sells them on a website. The table shows the &
profit earned for each item. Suppose that in one week the person sells 26. ‘
- 8 mantel clocks, 5 framed mirrors, and 3 candles. Find the average 5
daily profit. | 27.
* Wed Mantel clock | Framed mirror | Candle _ 28 EE 455
LBkt  s4.1 —s165 | $236 | 318727 20 Gx—3
P %2.04 ~%-25 TO¥  Mge =Pt 2
implify the expression. 3 o¢ -] Il
—6x + 15 27 Bex Y2
29. 10x -'f( + 3) 30. —-2x(x — 6) 31. —5 L ( o
2 Ry ) 5 (€x )3y §23.70
32. Use the distributive property and mental math to find the total cost
of 6 notebooks at $3.95 each. 5)(’5232 $22.70 295 x (9 -3
33. Find the perimeter and area of mmim 233. A =24 +1Z
the given dimensions. 6 ) 2
L‘HZW"'&"’LHZWFL{ 4+2w ZO“"’(W

(2 + A r2w +A YT 204, @("’fflub

Approximate the square root to the nearest integer.

Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

34. V35 35. —V150 36. V18 s -2
37. The area of a town’s square is 14,400 square feet. Find the side

length of the square. '

| O 120 P,

Evaluate the expression for the given value of x.
38. 2—-Vrwhenx=25 . 39. 4Vx+ 9whenx=1 38.

2 -5="2 Y 4 39. { =
Algebra 1

22 Chapter 2 Assessment Book



9th Grade American History Unit 1 Test Name:

Veritas Academy

Directions for Short Answers: In the space provided, Iegibly answer the following
questions in 3-5 sentences. (You may use an additional sheet of paper if needed.)

List four differences/ similarities between the following three colonies:
Jamestown Plymouth Plantation Massachusetts Bay

/
et s / Loder  ete? ‘/ Mighept clos
0 / v
ptd pen / A mere o _ond s | pore Bl
[ z
(i ‘Pl/ tYﬂv.!‘
S/ﬂbfkr-! {féf—?’ ;x;zfz-/ £ J!ﬂv/&l 6r /‘f//g%t:nd{é "ﬁ/k(/ ”(/ancn( i §i

—
Jr‘f’.\z{m" it r'!'r‘sr/fp-.ra notl os Mrch dre é v(-v//f of ¢ #b"fi

7/
22) Put the following movements in the correct chronological order of when they occurred in

history /
The Founding of GA CAD

The French & Indian War 3{ :O/
[

The Renaissance

The Scientific Rev. é 2
45

The Great Awakening

Considering your answer to #1... Why were the Colonies in New England more successful
than the colony of Jamestown?

'rr{éw Wl ety L f'cval.f/w/ !J{r'-u-/( % b :":# f'f-’fx)—'{cf;r’r:,f Ao iis € paloved
. £

d/{/u/f M o %gw.,i N f‘a& becage Hey pondid peliciios

" (,

j&zr lepa, Siace 1"{1"/ W A % Lol jL.(¢ - b3 /—,c,f—edqu‘},., ,&{?tr( e/l -,-J:./,r.t'-: ,' ¢
v ./ -

_/
Acegioprtiee  Lofls c'-n,-!f’. /‘f{-‘éfr-r-/ T b/“ }4’4'—;( J,’r‘-.; /“J‘i'(, Zart.
7 7

-

avv{ falr L:{(‘r(»(c u-JC/;.r Lot 1’:" Lﬁ(u’ s .:"‘ At 'L(L 1£—1¢L ’ff{-{ [L/dg— Lf‘ Z;j"(-c'/l'(
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Y / -
Al o i e W é’:’—"f:-}'z/ Me w & aglend an o 27075,
o

&sf
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9th Grade American History Unit 1 Test Name:
Veritas Academy

%,5 tHose wars and the years they occurred.

isputes with Native Americans in New England led to two major wars. Briefly explain

ES7

Tf!:( ,:_,j( (;L..r,fqé JA -rf:’f: P('?_,ua-{ wnT i /’? -?:{1«9 werrig ;;—ém ')l‘{¢
Fa 3
/.f(’&éw Vt{ox{,«(c«f fw&-&'f 5,1_,&/:,_:;; %m c—/—'l st ovad N nvoked Oy
; ) v

o # Nodiw  ometicons, 7%\' Aol Lo wr V;!'f?ﬂ: PA@?} Woy in

k' =
% f‘-} *ﬁu Lt Al n/ # (ﬂ_/f 51‘1.«..,1; 0o )LaJ\w /1try?£/lrw“ o

,.ﬂ,fw{f ;\L, v} ,J!{_Og:.j-éﬁ' JDLWZJ é_}ﬂ;’f&rgﬂ’ 6L714/< Sy S b\«/{‘) Ctvmy _I,._e..-,.r,';"!'a :J

15( What was the last colony to be founded? Who founded it and what was the initial

purpose of this colony?

’/A( ,é'aﬁl C{‘-[Catf,., Sats r'/"\lfﬂ’-'»’l( e Jﬁ;w (ﬁq(’}:{/{ea{,& ,;[c"l-v‘—-:'véﬁ‘( '4' W{ i
.u,l' . " 7 7

[ TEE nf'y&t'( o (2 é‘PW é{'z:-x_r(‘{\, 1 30 v !‘)’., CZ’{'C /l‘/‘& o -p( (/E’/‘fz&l tﬁt/( l'-;i-(

.L/Wf sl Ago[em::‘r b K, Stepish of Hir bay. Tt ole wegz a

ﬂ/..d.c, ,.,/ﬁ M‘M from 60;;&,...{ s d‘{m we? "Lf.-rf« e et en

[4
/gcr{ C‘ff s m/l'if;ﬁ /’fehf‘f(.
Es




9th Grade American History Unit 1 Test Name:

Veritas #cademy
What changed in the Colony of Georgia in 1752 and how did the other twelve colonies

view GA at this time?

l)‘"] /?5.2 [j—q.f-f":‘«;'ga .tJ:‘c conmt A r"(u&,a/ coloyyu el porvsit all lesecZod
/ g

St LNe¥F e , 4‘{ '/Av Fare fé:‘e/f(‘ Gty Ao Vitest :L_/ff y egtd 1Mers ol e
[ P . v ,
}u./u[w/cx L ﬂ-/r/ Ao /t.’ g et L/.::fa)p,_-q = é«f&-wn, e Gt -/-‘ et “od
/ [ <

Lo { J&Lf 11’5}/p A e it 4
~ [Z3

/

Explain the similarities and differences between the colonies of New England and the

colony of Maryland.
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Name:

9th Grade American History Unit 1 Test

Veritas
8

‘ademy
plain how the Navigation Acts and the Lords of Trade sowed some early seeds of
discontent in New England.
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at was the Great Awakening, explain how this movement laid the foundation for early

Wh
/};ﬂerican unity and how was this movement influential for the American Revolution?
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9th Grade American History Unit 1 Test

Name:
Veritas Acddemy

at was the impact of the Enlightenment on the American Colonies and what were
spme of its impacts on our Founding Fathers?
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9th Grade American History Unit 1 Test
Veritas Academy

B

Name:

11)) The French & Indian War coupled with the experiences of the Great Awakening had
given the colonists some sense of themselves as members of a larger American Culture.
Benjamin Franklin’s famous Unite or Die cartoon (see above) was the focal point of the
of what conference and how did this conference lead to a sense of a national

consciousness?
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9th Grade American History Unit 1 Test Name:

Veritas
1

ademy
e French and Indian War was enormously consequential for the American Colonies.

Why and how did it change the map of North America by 1759?
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Explain what conflict erupted between the colonists and Great Britain after the French
and Indian War. In your opinion was Parliament justified in its actions? Make sure you

explain your opinion.
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9th Grade American History Unit 1 Test Name:
Veritas Academy
14) Explain how men such as Edmund Andros (1686), George Grenville (1763), & Charles
ownsend (1767) helped lay the foundation and fan the flames for colonists’ resentment
the Crown by the 1770’s?
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Essay-Directions: Choose one prompt from below and on a separate sheet of paper, respond
to the essay prompt with a multi-paragraph response. Make sure that you do the following:
completely answer the essay prompt, organize your arguments or ideas in a logical progression,
and follow the common rules of grammar usage.

1. There are three major factors that are driving forces of history — religion, geography, and
economics. Choose one of these themes and write a cogent response for the importance
of that theme as it runs through and drives the early American history we have studied
thus far.

2. The following phrases have described the American identity at different points in our
history- “the City on a Hill”, “Nature’s Nation”, “the Redeemer Nation”, “Novus Ordo
Seclorum” (America as the new order of the ages), another “The New Eden”. Pick one of
these phrases and explain how the history we have learned thus far illustrates or
supports your chosen phrase. This is your time to draw on any and all of your knowledge
— use specific examples of events and readings to illustrate the big picture!
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JBE& Chapter Test A 2= =)

For use after the chapter “Essentials of Geometry” L’\ \ /
In Exercises 1-3, use the diagram. Answers <<
1. Give two other names for 4B. %
2. Name three points that are collinear. 2. QAG
3. Name a point not coplanar with /‘T/L’G” E)
C An 3.
A, C, and T. '
¥
| XB a2 T
=7, ™= S
. 5. _xW )@ W\g
In Exercises 4-6, use the diagram. a\\%
N\g X

4. What is another name forX(—_ﬁ?

7 _ U4

5. Name all rays with endpoint X.

6. Give another name for ?’ﬁ( 8. D [’\
o. '€
Measure the length of the segment to the nearest tenth of a 10 XQ’
centimeter. - \ ’ .2
. " s : ]
7. e e 8. oe—moe a1 g ‘B) 6:))

A g Ml o

Find the indicated length.

9. ¥Z 10. LN - J,‘,;[ Y. 1} \
N - 25 12 ( \ 6 )
x vy  z L M N \
} ) . ,14' Q_ I9 \ }
Find the exact distance between the points. \(_ . a)
1. A(2,3)and B(3,9) 12, F(—4,6) and G(1, 8) @ )—
% =y > Ty, %
Find the coordinates of the mldpomt of the segment with the _‘ _ﬁi’l‘ M’\

given endpoints.

13. A(—I 4) andB(3 6) 14. C(Q2, —3\13 andD(—4 —1) k#\ )) (\*‘5\

3= »
N 1 ég \M\\H (&)%@Q \F’;/_—_,\

] 5 _ ~¥ >
Qt 3\)‘ )rs @.)5: % v&é\ Geometfv//\

Assessment Book 3
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Name

Chapter Test A continued

For use after tHe chspter “Essentials of Geometry”

Date

In Exercises 15-17, use the diagram to find the measure of the
indicated angle. Then classify the angle.

15. ZJNK 16. ZKNM

In Exercises 18-20, £1 and £2 are complementary angles.
Given the measure of Z1, find m/Z2.

18. mZl = 87°0 19. mZ1 =15°

B af

17. ZLNM

20. mzZ1=171°

fn.Exercises 21-23, /1 and £2 are supplementary angles.

Given the measure of £1, ﬁnd m£2.

21.- ms1l=8° 22. mél = 87°

In Exercises 24-26, use the diagram. Tell whether the angies

23. m/1=115°

are vertical angles, a linear: pair. or neither.

24. Zland £2
25. AZandAS
26 Zlamd /4 =

28.

30.

<

::fhp

Answers

o 5

20. . ¥
LAY

22. _ W%Q

23. \9/6:9 :

24. 'w@[ \&k:\\f
26. V\E,\N“‘
27 %%Q\M\

29. IENM O\Ng
s0._CODR A

Copyright © Houghton Mifflin Harcourt Publishing Company. All rights reserved.
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Modern European History Test B — Renaissance and Reformation Name t__
atra foe1s

Fill in the Blank: Write the most accurate answer to the question in the blank provided. (1 point each)

%}L&ﬂhl A Q.a o 1. Who sculpted David and Moses?

Ud p\t 'ﬁfi 1A 1/" 0, 2. What book did Machiavelli write about politics?
/P()’Z’},Q, Zf b~ X 3. What pope opposed Martin Luther?
A p,(\LEL Q/ 4. Who was famous for painting Madonnas?

G{Qﬂ-ﬁi AL ﬁ&ul 13 ¢ 5. Who painted the Mona Lisa?

Q gA AR a Ak, 6. What langnage did Martin Luther translate the Bible into?
&(}CAU,L?#A, 7. What group did Ignatius Loyola form to spread the Catholic faith?
gﬁu. A LA 8. Who published a scathing critique of Pope Julius II?
@e 5 lae L \ 9. List two children of Henry VIIL.

V)ré L U (ﬂ/&N‘A qwa n)

Use complete sentences to ﬁmsh the test. Remember to write in cursive.

Short Answers

1. Why did the Renaissance start in Italy? (2 points)
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2. What is humanism? (2 points) Is it compatible with the Biblical worldview? (1 point)
%M\Aﬂb(—d_ﬂ_w ‘.L i(f\ﬂ ; f\WiMT }(’é\fg{' 0\.1 iand afle
e loda WO racdunos amd that Hon nae canalfe of o noat

Ttﬁ’\i/l\.ﬂé,. \M 0/60M A 00 tﬂr\@i ﬁ\u,-w\E Af10 Gdﬂ(\)’@. r\-'*‘tﬁﬂd

cnoafiies owd 9aps0.0o of incrodilh ,ﬁmﬁg%gmgg.. Jbs que-
(100 ﬂ'fff\;-, Q\MM‘ mﬂ(}v\m mgié-. )IDPAA“G BN (L anan VK4, (‘ﬁﬂﬂj.z'cﬂ\
Vg AB. -\-Of. CON\. Qx’i’ (‘mﬂu\vga“h('s@o, )\0, A){ Ad Nm’{ fi&ﬁomo'b{_ﬁ\!;
ﬁ/)?fﬂﬂmxﬁ“ O (“"ﬁ\wf Lama AsD ﬂo.rmia'mz, m«k o4l ‘iﬁ\n‘f
axmm,«m AAC Ma A\{‘ L wq’hzjul ,‘lfll.&(gﬂoa-()ﬂniﬂ{L. ﬂﬂ@.J{; LJ@&AI’LQIUQ
owaticon At 1 eapa o of oread W inad . Usaensen .;k{.}«m\fa,
m O;yfﬂ_ﬁ/ﬂ’\ﬂn g;r*t {?rijﬁ. :vw\ﬂ,()ﬁu. (%‘U\O. (LGC{} nggnd A M{)\‘_A i{s@&
0\616’ fanamy Cﬁb&Qém Q’Cz"(ﬁﬂ"ﬁ_{t (j\f,-\;b OA avL —A, Y M&\Acav M OV

Q/(iﬁﬁjﬂ\ﬂa 'ﬂ\&i A m ,_*\_‘f ( f;vvﬂfdifiﬁ. LS N %uﬁ&&;.\i% Hita _1
y S\ ‘\ PDF

'QFBM
& dul.

3. What are two ideas that the Renaissance and Reformation had in common? (2 points)
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4. Howdid] ohr&JCalvin advance the Reformation? (3 points) 1
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5. List two pillars of a Biblical philosophy of history. Then give an example from our Renaissance and
Reformation unit of each of those pillars. (2 points)
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Intermediate essays (Be sure to support your answers with as much specific content as possible)

1. How is this pajnting an excellent example of Renaissance art? (5 points)
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2. Author Eric Metaxas describe Luther as, “The man who created the future.” Write an essay

supporting this thesis. (10 points) % tf\ 6
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Pre-Calc: Name:
Chapter 2 Quiz (2.1-2.5)

1. Sketch the graph of f(x) = —x? + 2x + 8 and state the following.
= -

S/Veﬂex@)ct (2‘ -3940 \\ﬂ'
¥

Axis of sym?e‘l/ =4 " (x- (X \

. )
X-intercepts: — o B L

|

2. Describe the right-hand and left-hand behavior of the graph f(x) = 3 — 2x*. (That is will it be

going towards negative or positive infinity) 5;\5( — - ox 5{?)

3 \ i
L\M L \a '@5 bowteds S NGy

3. Find all the real zeros of the function f (x) = 2x* — 5x3 + 2x? and state their multiplicity.
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5. Use the fact that x = —1 is a solution of the equation x3 + 3x2 — 13x — 15 = 0 to factor the
polynomial completely. :
| 3 -1 =15
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Perform the operations and write in standard form.
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Anatomy and Physiology Test Module 4 Name

1. Name the three types of bone cells and describe their function. (10 pt)
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2. Why do osteocytes resemble spiders? What is it that gives them their “spider legs” and what

is the function of these “spider legs”? (5 Pts) ‘
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3. Explain how bone grows lengthwise. (Include epiphyseal plate, chondrocytes lacuna, ovicther,
cartilage ossification, osteoblasts, and osteocytes in your answer) (10 pt)
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4. Name two nufrients necessary for bone growth. (5 pt)
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5. Briefly describe plantar flexion and dors1ﬂex10n'7 (5 pt) . . v, Hor
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6. Give a brief description of bone repair from once a bone has been broken and a hematoma has A/
formed. (5 pt) g
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7. What happens to one’ if their blood calcium level significantly dropped? (5 pt)
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8. How does one’s parathyroid respond to low blood calcium levels? (Include PTH, osteoclast,

and vitamin D in your answer). (10 pt)
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9. How does the body compensate and regulate a high blood calcium level? (Include thyroid
gland, calcitonin, and kidneys in you answer.) (5 pt)
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10. If too little growth hormone is left untreated in a child, what syndrome will the child d evelop
and if it is detected in a chﬂd how is this problem treated? (5 pt)
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11. Brefly describe anatomical position? (you may yse a drawing, include a least five terms

used to describe positioning of human anatomy) (5 pt) . _
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12. Name the three types of joints found in a human s body and give an example of each. (10 pt)
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13., What is thc function of synovial fluid? (5 pt)
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14. Name and give an example of two synovial joints found in the human body. (be sure to

include the type of synovial Jomt and bneﬂy describe its movement) (10 pt)
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15. Label the parts of the synovial joint below. (5 pt)
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Sparks, Medieval History (2023)

Medieval History - Exam #1
Name | ? g

Definitions:
Give 1-2 sentences to define the term.

1. asceticism

2. Constantine

3. coenobitic'

4. Vandals

5. Ambrose of Milan
Essays:

Please answer the following essay prompts on separate sheets of paper. Each essay should
contain 3-5 paragraphs. DO NOT USE fluff introduction and conclusion paragraphs. All writing
must be single-spaced. Staple your essay pages to this document before turning it in.

1. Who is Diocletian? Explain why he is important to the history of Rome in his context.
And then explain why he is important for this history of the Church. Be sure to give
details, examples, etc. to support your reasoning.

2. Why does Rome become “Christian”?

3. Who are the “barbarians”? Explain the historical relationship between barbarians and
Rome. Why are they necessary for understanding the fall of Rome?

4. What is the relationship between persecution and Christian monasticism in Rome? Why
do some Christians become monks during persecution? Why do some become monks
after persecution? Give examples to support your answer.
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Sparks, Medieval Literature (2023)

Medieval Literature - Exam #1

Name [ 1 b_

bt Iy

Please answer the five following essay prompts on separate sheets of paper. Each essay should
contain 3-5 paragraphs. DO NOT USE fluff introduction and conclusion paragraphs. All writing
must be single-spaced. Staple your essay pages to this document before turning it in.

1. The phrase “Pat waes god cyning” (“That was one good king”™) appears three times in
Beowulf. Frrst it is used to comment on Shield Sheafson (line 11), then Hrothgar (line
862), and finally Beowulf (line.2391). Interpret this phrase in light of the entire narrative.
Give evidence for your interpretation from the text.

2. The motif of “feud” appears continually throughout Beowulf. Explain what the motif is,
how it is used throughout the text, and why it is used.

3. What is a dragon? Why do both dragons in Beowulf sit on piles of gold? Put yourself in
the shoes of the poet, why use dragons? '

4. Who is Beowulf? Explain and defend your answer.

5. Write your own exam question and answer it. You will be graded on both the question
and the answer. Tread lightly. You must ask a question worthy of being dealt with on an
exam by all readers of Beowulf.
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Physics "‘"ét-:i' - G\ Name: "~
Module 3 Test

onsider the following graph for questions 1-7:

1. Which has the largest magnitude? A v

/ A /
2. Which has the largest angle? %
B >
b/ C \n
If an airplane is travelling soin:yﬁ, which vector would be the most likely to represert its velocity?
C

[958

4. If A is the acceleration of an object, and B is ifs-velocity, would the object be speeding up or slowing down?

v
Sl a5t Aoroonetn
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5. Graphically add vectors A and C. /
¢

6. Draw the vector that would represent —C.
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7. Graphically subtract vector C from vector B.

8. What is the point of adding vectors graphically when we can do so analytically?

gmmf/we» ,(i 4 Qﬂ% Wil can dee thg ;ﬁg/‘f;,_,?d o tbyrs 2
Please solve the following problems

A= JAZ+ A2 6 = tan () A, = A+cos A, = Axsinf
9 Vector A has a magnitude of 3.2m and a direction of 15 degrees. What are its x and y components?

g\;?fi”’ AX: 3.2m - CO5)g _ é.O‘V
AV:?.ZM’SI‘Q{I: 0.8 -

10. The velocity vector of a bike has an x-component of 1.7m/sec and a y-component of -1.1m/sec. What are
the magnitude and direction of the velocity vector?

Ay =1 T5ec /f(—"t’)»* L a)"‘ m__hgﬁ
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5) “32.91 4 340 - 327.07
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11. Vector A has a magnitude of 31.1m at an angle of 60.0 degrees, and vector B has a magnitude of 11.4 m at
an angle of 290.0 degrees. What is the sum of these two vectors? (Answer should have magnitude and
direction.)

Az Bl lm (08 602 5 55 Be=Wdr - Cos200= 3. 4 m Sl FEn
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12. A hiker walks 1.8 miles with a heading of 150.0 degrees and then 3.2 miles at a heading of 350.0 degrees.
What is the scout’s final displacement relative to his starting point?

gy F . cec (60 ~156m B = 3 T COSHO STRCTA C,: e 8
. w g = 0'6! Lagl 5, = 5. 2w 24 F5¢ - "chém" v < 0. ’44”
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13. A boat travels across a wide river. If the boat can travel at a speed of 15mph and its pilot heads in a direction
of 130.0 degrees (while the current’s velocity is 2.1mph at a heading of 200.0 degrees) what will be the final
velocity of the boat?

c (Geph a5 pp0 = =A bt B 2 g ospor = LAT by Cr= —u. *‘”"'MM
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14. A plane heads due north (6 =90.0°) at a speed of 200.0mph. If the wind’s velocity is southeast (315°) at
15.0mph, what will be the actual velocity of the plane?

. - . ais = (0.4 Cx= wcél.y,‘
A, . 2o . L0590 = [) ﬂ_y fe « €a3 :
Ay/: s §in90 = W7 L0 16 $20¥5°0.6] Cy=159.3mph

15. Determine the sum of these two vectors: A = 28.9 m at 165° , B= 34.6 m at 305°.
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Cx = ‘”807 e
¢y =-20.56 .




